## Assignment 24

**Ex 16.2.1** Compute  $\int_C xy^2 \, ds$  along the line segment from (1,2,0) to (2,1,3), (answer)

$$F(H) = \langle 1, 2, 0 \rangle + t \langle 1, -1, 3 \rangle = \langle 1 + t, 2 - t, 3t \rangle$$

$$\int_{0}^{1} (1 + t)(2 - t)^{2} (11 dt) \qquad \qquad F' = \langle 1, -1, 3 \rangle$$

$$= \prod_{0}^{1} \int_{0}^{1} 4 - 3t^{2} + t^{3} dt$$

$$= \prod_{0}^{1} \left[ 4 + -t^{3} + \frac{t^{4}}{4} \right]_{0}^{1} = \prod_{0}^{1} \left( 4 - 1 + \frac{1}{4} \right) = \frac{13}{4} \prod_{0}^{11}$$

**Ex 16.2.2** Compute  $\int_C \sin x \, ds$  along the line segment from (-1,2,1)

$$\frac{1}{100} = \frac{1}{100} = \frac{1$$

**Ex 16.2.4** Compute  $\int_C \sin x \, dx + \cos y \, dy$  along the top half of the unit circle, from (1,0) to (-1,0). (answer)

$$x: 1 \to -1$$
  
 $y: 0 \to 0$ 

$$\int_{a}^{a}f(x)dx=0$$

$$= -\cos x \Big|_{= -\cos(-1) - -\cos(1)}$$

$$= -\cos(-1) + \cos(1)$$

$$= -\cos(1) + \cos(1) = 0$$

$$\int_{0}^{\pi} \frac{-\sin t \sin(\cos t) dt}{u = \cos t} = \int_{0}^{\pi} \sin u du = -\cos(u)$$

$$= -\cos(u)$$

Ex 16.2.7 Compute  $\int_C xe^y dx + x^2y dy$  along the curve x = 3t,  $y = t^2$ ,

Compute 
$$\int_{0}^{\infty} xe^{y} dx + x^{2}y dy$$
 along the curve  $x = 3t, y = t^{2}$ .

1. (answer)

 $x = 3t, t^{2}$ 
 $y = t^{2} = \left(\frac{3t}{3}\right)^{2} = \left(\frac{x}{3}\right)^{2} = \frac{x^{2}}{9}$ 
 $y = t^{2} = \left(\frac{3t}{3}\right)^{2} = \left(\frac{x}{3}\right)^{2} = \frac{x^{2}}{9}$ 
 $y = t^{2} = \left(\frac{3t}{3}\right)^{2} = \left(\frac{x}{3}\right)^{2} = \frac{x^{2}}{9}$ 
 $y = t^{2} = \left(\frac{3t}{3}\right)^{2} = \left(\frac{x}{3}\right)^{2} = \frac{x^{2}}{9}$ 
 $y = t^{2} = \left(\frac{3t}{3}\right)^{2} = \left(\frac{x}{3}\right)^{2} = \frac{x^{2}}{9}$ 
 $y = t^{2} = \left(\frac{3t}{3}\right)^{2} = \left(\frac{x}{3}\right)^{2} = \frac{x^{2}}{9}$ 
 $y = t^{2} = \left(\frac{3t}{3}\right)^{2} = \left(\frac{x}{3}\right)^{2} = \frac{x^{2}}{9}$ 
 $y = t^{2} = \left(\frac{3t}{3}\right)^{2} = \left(\frac{x}{3}\right)^{2} = \frac{x^{2}}{9}$ 
 $y = t^{2} = \left(\frac{3t}{3}\right)^{2} = \left(\frac{x}{3}\right)^{2} = \frac{x^{2}}{9}$ 
 $y = t^{2} = \left(\frac{3t}{3}\right)^{2} = \left(\frac{x}{3}\right)^{2} = \frac{x^{2}}{9}$ 
 $y = t^{2} = \left(\frac{3t}{3}\right)^{2} = \left(\frac{x}{3}\right)^{2} = \frac{x^{2}}{9}$ 
 $y = t^{2} = \left(\frac{3t}{3}\right)^{2} = \left(\frac{x}{3}\right)^{2} = \frac{x^{2}}{9}$ 
 $y = t^{2} = \left(\frac{3t}{3}\right)^{2} = \left(\frac{x}{3}\right)^{2} = \frac{x^{2}}{9}$ 
 $y = t^{2} = \left(\frac{3t}{3}\right)^{2} = \left(\frac{x}{3}\right)^{2} = \frac{x^{2}}{9}$ 
 $y = t^{2} = \left(\frac{3t}{3}\right)^{2} = \left(\frac{x}{3}\right)^{2} = \frac{x^{2}}{9}$ 
 $y = t^{2} = \left(\frac{3t}{3}\right)^{2} = \left(\frac{x}{3}\right)^{2} = \frac{x^{2}}{9}$ 
 $y = t^{2} = \left(\frac{3t}{3}\right)^{2} = \left(\frac{x}{3}\right)^{2} = \frac{x^{2}}{9}$ 
 $y = t^{2} = \left(\frac{3t}{3}\right)^{2} = \left(\frac{x}{3}\right)^{2} = \frac{x^{2}}{9}$ 
 $y = t^{2} = \left(\frac{3t}{3}\right)^{2} = \left(\frac{x}{3}\right)^{2} = \frac{x^{2}}{9}$ 
 $y = t^{2} = \left(\frac{3t}{3}\right)^{2} = \left(\frac{x}{3}\right)^{2} = \frac{x^{2}}{9}$ 
 $y = t^{2} = \left(\frac{3t}{3}\right)^{2} = \left(\frac{3t}{3}\right)^{2} = \frac{x^{2}}{9}$ 
 $y = t^{2} = \left(\frac{3t}{3}\right)^{2} = \left(\frac{3$ 

du= = xdx

2 du -Xdx  $\int_{0}^{1} 9y^{2} dy = 9 \cdot \frac{y^{3}}{3} \Big|_{0}^{1} = 9 \cdot \frac{1}{3} = 3$ 

3-2= 6-9= -3

Total 2 e - 9 + 3 - 9 e - 3

Ex 16.2.11 Compute  $\int_{C} (1/xy, 1/(x+y)) \cdot d\mathbf{r}$  along the curve (2t, 5t),  $\mathbf{r}' = \langle 2, 5 \rangle$   $1 \le t \le 4$ . (answer)  $\begin{pmatrix}
4 & \frac{1}{xy}, \frac{1}{x+y} \\
 & \frac{1}{x+y}
\end{pmatrix} \cdot \langle 2, 5 \rangle d\mathbf{r} = \begin{pmatrix}
4 & \frac{2}{xy} + \frac{5}{x+y} \\
 & \frac{1}{x+y}
\end{pmatrix} \cdot \langle 2, 5 \rangle d\mathbf{r} = \begin{pmatrix}
4 & \frac{2}{xy} + \frac{5}{x+y} \\
 & \frac{1}{x+y}
\end{pmatrix} \cdot \langle 2, 5 \rangle d\mathbf{r} = \begin{pmatrix}
4 & \frac{2}{xy} + \frac{5}{x+y} \\
 & \frac{1}{x+y}
\end{pmatrix} \cdot \langle 2, 5 \rangle d\mathbf{r} = \begin{pmatrix}
4 & \frac{2}{xy} + \frac{5}{x+y} \\
 & \frac{1}{x+y}
\end{pmatrix} \cdot \langle 2, 5 \rangle d\mathbf{r} = \begin{pmatrix}
4 & \frac{2}{xy} + \frac{5}{x+y}
\end{pmatrix} \cdot \langle 2, 5 \rangle d\mathbf{r} = \begin{pmatrix}
4 & \frac{2}{xy} + \frac{5}{x+y}
\end{pmatrix} \cdot \langle 2, 5 \rangle d\mathbf{r} = \begin{pmatrix}
4 & \frac{2}{xy} + \frac{5}{x+y}
\end{pmatrix} \cdot \langle 2, 5 \rangle d\mathbf{r} = \begin{pmatrix}
4 & \frac{2}{xy} + \frac{5}{x+y}
\end{pmatrix} \cdot \langle 2, 5 \rangle d\mathbf{r} = \begin{pmatrix}
4 & \frac{2}{xy} + \frac{5}{x+y}
\end{pmatrix} \cdot \langle 2, 5 \rangle d\mathbf{r} = \begin{pmatrix}
4 & \frac{2}{xy} + \frac{5}{x+y}
\end{pmatrix} \cdot \langle 2, 5 \rangle d\mathbf{r} = \begin{pmatrix}
4 & \frac{2}{xy} + \frac{5}{x+y}
\end{pmatrix} \cdot \langle 2, 5 \rangle d\mathbf{r} = \begin{pmatrix}
4 & \frac{2}{xy} + \frac{5}{x+y}
\end{pmatrix} \cdot \langle 2, 5 \rangle d\mathbf{r} = \begin{pmatrix}
4 & \frac{2}{xy} + \frac{5}{x+y}
\end{pmatrix} \cdot \langle 2, 5 \rangle d\mathbf{r} = \begin{pmatrix}
4 & \frac{2}{xy} + \frac{5}{x+y}
\end{pmatrix} \cdot \langle 2, 5 \rangle d\mathbf{r} = \begin{pmatrix}
4 & \frac{2}{xy} + \frac{5}{x+y}
\end{pmatrix} \cdot \langle 2, 5 \rangle d\mathbf{r} = \begin{pmatrix}
4 & \frac{2}{xy} + \frac{5}{x+y}
\end{pmatrix} \cdot \langle 2, 5 \rangle d\mathbf{r} = \begin{pmatrix}
4 & \frac{2}{xy} + \frac{5}{x+y}
\end{pmatrix} \cdot \langle 2, 5 \rangle d\mathbf{r} = \begin{pmatrix}
4 & \frac{2}{xy} + \frac{5}{x+y}
\end{pmatrix} \cdot \langle 2, 5 \rangle d\mathbf{r} = \begin{pmatrix}
4 & \frac{2}{xy} + \frac{5}{x+y}
\end{pmatrix} \cdot \langle 2, 5 \rangle d\mathbf{r} = \begin{pmatrix}
4 & \frac{2}{xy} + \frac{5}{x+y}
\end{pmatrix} \cdot \langle 2, 5 \rangle d\mathbf{r} = \begin{pmatrix}
4 & \frac{2}{xy} + \frac{5}{x+y}
\end{pmatrix} \cdot \langle 2, 5 \rangle d\mathbf{r} = \begin{pmatrix}
4 & \frac{2}{xy} + \frac{5}{x+y}
\end{pmatrix} \cdot \langle 2, 5 \rangle d\mathbf{r} = \begin{pmatrix}
4 & \frac{2}{xy} + \frac{5}{x+y}
\end{pmatrix} \cdot \langle 2, 5 \rangle d\mathbf{r} = \begin{pmatrix}
4 & \frac{2}{xy} + \frac{5}{x+y}
\end{pmatrix} \cdot \langle 2, 5 \rangle d\mathbf{r} = \begin{pmatrix}
4 & \frac{2}{xy} + \frac{5}{x+y}
\end{pmatrix} \cdot \langle 2, 5 \rangle d\mathbf{r} = \begin{pmatrix}
4 & \frac{2}{xy} + \frac{5}{x+y}
\end{pmatrix} \cdot \langle 2, 5 \rangle d\mathbf{r} = \begin{pmatrix}
4 & \frac{2}{xy} + \frac{5}{x+y}
\end{pmatrix} \cdot \langle 2, 5 \rangle d\mathbf{r} = \begin{pmatrix}
4 & \frac{2}{xy} + \frac{5}{x+y}
\end{pmatrix} \cdot \langle 2, 5 \rangle d\mathbf{r} = \begin{pmatrix}
4 & \frac{2}{xy} + \frac{5}{x+y}
\end{pmatrix} \cdot \langle 2, 5 \rangle d\mathbf{r} = \begin{pmatrix}
4 & \frac{2}{xy} + \frac{5}{x+y}
\end{pmatrix} \cdot \langle 2, 5 \rangle d\mathbf{r} = \begin{pmatrix}
4 & \frac{2}{xy} + \frac{5}{x+y}
\end{pmatrix} \cdot \langle 2, 5 \rangle d\mathbf{r} = \begin{pmatrix}
4 & \frac{2}{xy} + \frac{5}{x+y}
\end{pmatrix} \cdot \langle 2, 5 \rangle d\mathbf{r} = \begin{pmatrix}
4 & \frac{2}{xy} + \frac{5}{x+y}
\end{pmatrix} \cdot \langle 2, 5 \rangle d\mathbf{r} = \begin{pmatrix}
4 & \frac{2}{xy} + \frac{5}{x+y}
\end{pmatrix} \cdot \langle 2, 5 \rangle d\mathbf{r} = \begin{pmatrix}
4 & \frac{2}{xy} + \frac{5}{x+y}
\end{pmatrix} \cdot \langle 2, 5 \rangle d\mathbf{r} = \begin{pmatrix}
4 & \frac{2}{xy} + \frac{5}{x+y}
\end{pmatrix} \cdot \langle 2, 5 \rangle d\mathbf{r} = \begin{pmatrix}
4 & \frac{2}{xy} + \frac{5}{x+y}
\end{pmatrix} \cdot \langle 2, 5 \rangle d\mathbf{r} = \begin{pmatrix}
4 & \frac{2}{xy} + \frac{5}{x$ 

$$r(t) = \langle t^2, t^3 \rangle$$
 (1,1) to  $\{4, \epsilon\}$ 

$$= (2 + (t^2)^2 + \sin(t^3) + 3t^2) + \sin(t^3) + \cos(t^3) + \cos(t$$

$$\int_{1}^{2} 2t^{5} dt = 2 \cdot \frac{t^{6}}{6} \Big|_{1}^{2} = \frac{1}{3} \Big[ 2^{6} - 1 \Big] = \frac{63}{3} = 21$$

$$\int_{1}^{2} \sin(t^{2}) 3t^{2}dt = \int_{1}^{8} \sin(u) du = -\cos(u)^{8}$$

$$u = t^{3}$$

$$du = 3t^{2}dt$$

$$t = 1, u = 1$$

$$t = 2, u = 8$$

$$= \cos(s) + \cos(s)$$

$$= \cos(s) + \cos(s)$$

 $\mathbf{Ex}\ \mathbf{16.2.16}\ \mathrm{An}\ \mathrm{object}\ \mathrm{moves}\ \mathrm{along}\ \mathrm{the}\ \mathrm{line}\ \mathrm{segment}\ \mathrm{from}\ (1,1)\ \mathrm{to}\ (2,5),$ subject to the force  $\mathbf{F}=\langle x/(x^2+y^2),y/(x^2+y^2)\rangle$ . Find the work

6 An object moves along the line segment from (1,1) to (2,5). the force 
$$F = (x/(x^2+y^2), y/(x^2+y^2))$$
. Find the work

$$F(t) = \langle 1, 1 \rangle + t \langle 1, 1 \rangle$$

$$= \langle 1+t \rangle + (1+1)^2 \rangle + (1+1)^2$$